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Warm-up
Factor to solve

2.)6x" +7x =3 3.)(2x - 3(x+1) 0

v LG

Unit 6

Learning Target 2
I can solve trig equations in degrees and
radians by factoring.
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Solve the equation over the interval [O°, 360°) :

1.) 3sin XCOSX = COS X
35\7\)& sy — cosx =0
(s x (’Ssmx—lB:O
cob X=0 sf/\><'——‘§> R Al 4%

=902, 1197, 1@

Solve the equation over the interval [0, 272') :

2.) sec’x —6secx+5=0 /%
| SeCx-55e(=[seex+5)

5€(X(§€cx—s\ — I secx ‘3\
(S€cx=1) (Secx-S)=0

Qeex = | e =3 ,
COSX = | (OSX = \/S- ]LP((:S:)

@Q Es2 L\.ﬁ/)
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Solve the equation over the interval [O°, 360°) :

3.) 2sin’x=3sinx+5 (0

Zsm"i—Bsmx -5:0 %_
2K —3x-5=0 2/ &
(X-H) (2X—S> -0
(Stny+1)(2siny-9)=0

Srnx= - | SinX = =

Solve the equation over the interval [O°, 360°) :

4.) (4sin’>x—T)cos’x—2) =0
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Solve the equation over the interval [O, 27[) :

5.) 6¢cos*x = —cosx + 2
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